CIELABU2 standard lightness L*
1 Yocml* W - nc=100,

L* CiELABu2 B9 (Y/Y) Y259 (¥,=18, Y, /100<Y<=Y, )
L* N(3.6)=22,L* ,(18)=50,L* (90)=103

L*¢0=102,79y=2,5, 1§=1/2,5=0,40
L*15=50,00 §=58,42 D,=-8,42
L*36=22,19,[%,=50,00 Y=18

log[L* /L* ]=0, m,;=0,46
application
range

1,518

1Yy =90

Yn=3.6

CIELABuU2
tristimulus value difference

Yoc=L* w nc=100,
L* CiELABu2 B9 (Y/Y) Y259 (¥,=18, Y,/100<Y<=Y, )
log(dY) = (1/2,5) log[2,5¢,/58)] + [1-(1/2,5)] log¥)

Iog(AY)
AY

%
* =50, dY,=4,27, dY,/Y,=0, 2377
log(dY)=4,27, m;=0,59

dYeo=11,23,y=2,5, Af=1/2,5=0,
dY;5=4.27, $=58,42 D,=-8,42
dYS =162 V,=18 dY=4,27

YN=3.6 1 Yy=90

log (AY/Y) CIELABU2
_ tristimulus value sensitivity
SOV Yoc=L*w - nc=100,
L* CiELABu2 B9 (Y/Y) Y259 (¥,=18, Y,/100<Y<=Y, )
log(dY/Y)= log[2,5(Y,/58)] - (1/2,5) log{/Y,,)
= (1/2,5) log[2,5¢,/58)] - (1/2,5) log{)

= & . application
* =50, dY,=4,27, dY,/Y,=0,2377 : S sggnee
(dY/Yy=0,1248y=2,5, 1{=1/2,5=0,40
(dY/Y)g=0,2377 S=58,42 D,=—8,42
(dY/Y},6=0,4515 Y,=18, dY=4,27
1Y,=18
+ Yw=90

Yn=3.6

CIELABuU2
tristimulus value contrast

Y=L w nc=100,

L* CiELABu2 B9 (Y/Y) Y259 (¥,=18, Y,/100<Y<=Y,)
log(Y/dY)= - log[2,5(/,/58)] + (1/2,5) log¥/Y,)

= - (1/2,5) 10g[2,5¢(,/58)] + (1/2,5) log{)

log (Y/AY)
C,=(Y/AY)

* =50, dY,=4,

(Y/dYy5=8,00,y=2,5, 14=1/2,5=0,40
(Y/dY)g=4.20' S=58,42 D,=—8,42  application
(YIdY} 2,21 Y,=18 dY=4,271  range
ly,=18

Yw=90

Yn=3.6

Iy
{1

CIELABuUZ relative standard lightnessL*/L*
Yn=L* w nc=100,

L* CiELaBu2 59 (Y/Y) 259 (V=18 ¥,/100<Y<=Y, )
L*\(3,6)=22,L* ,(18)=50,L*,(90)=103
L* c/L* :2,05 y—2 5, 14=1/2,5=0,40
,00 8 42 D= 8 42
L*SdL* =0,44,1%,=50,00 ¥;
log[L*/L* ,J=0, m,=0,46

Yy=90

CIELABuUZ relative

tristimulus value difference
Yoe=L*w ~ ne=100,

L* CiELaBu2 59 (YY) 259 V=18, ¥,/100<Y<=Y, )
log(dY/dY,) = [1-(1/2,5)] log¥//Y,,)

log (A YIAY,)
AYIAY,

dYoo/dY,=2,62,y=2,5, 14=1/2,5=0,40
dY;gdY,=1,00 §,758,42 D =842
dYs ¢dY,=0,37, Y,=18, dY=4

* =50, dY,=4,27, dY,/Y,=0,2377 _
log[(dY)(dY),]=0, m=0,60 .~ 7
P s 1

1

1

application
range

Y,=18
Y=90

log [(AY/Y) I (AYIY)] CIELABuU2 relative
tistimulus value sensitivity

SSu=@YMIBYN)y . =\, - =100,

L* CieLaBuz 59 (YY) 259 V=18, Y,/100<Y<=Y, )
logl(dY/)I[dYY),] = - (1/2,5) loglIY,)

(dY/Yyo/(dY/Y)=0,52,y=2,5, 14=1/2,5=0,40
(dY/Y)g/(dY/Y)=1,00 s, 8,42 D=—8,42
(dY/Yy @Yy 1@9 Y.=18, d\=4, Bl T

S,

log[(dY/YY(dY/Y)J=0, m=—0,39 1
* =50, dY,=4,27, dY,/Y,=0,2377 |
1

Y,=18
Y=90

Yn=3.6
log [(Y/AY) I (YIAY),] CIELABU2 relative
tistimulus value contrast
CrlCr=(YIAVI(YIAY)y v 21'% > 100,

nc~
L* CiELABu2 59 (Y/Y) 259 (V=18 ¥,/100Y<=Y, )
logI(Y/dY)/(Y/dY),] = (1/2,5) loglY/Y,)

(Y/dYpo/(Y/dY)=1,90,y=2,5, 1§=1/2,5=0,40
(Y/dY)g/(Y/dY)=1,00 §=58,42 D,=—8,42
(YIdY} f/(Y/dY)=0,52, Y,=18, dY=4,27

YN=3.6  Yw=90




